FACTA UNIVERSITATIS (NIŠ) SER. MATH. INFORM. Vol. 34, No 5 (2019), 849–854 https://doi.org/10.22190/FUMI1905849M

A NEW PROOF OF A REDUCTION FORMULA FOR THE APPELL SERIES F_3 DUE TO BAILEY*

Gradimir V. Milovanović and Arjun K. Rathie

C2019 by University of Niš, Serbia | Creative Commons Licence: CC BY-NC-ND

Abstract. In this short note, we provide a new proof of an interesting and useful reduction formula for the Appell series F_3 due to Bailey [On the sum of a terminating ${}_{3}F_2(1)$, Quart. J. Math. Oxford Ser. (2) **4** (1953), 237–240]. **Keywords:** Appell series, Humbert series, Whipple summation theorem, reduction

formula, special functions

1. Introduction

Hypergeometric series and many their generalizations, including multiple series, play an important role in the applied mathematics and mathematical physics. In this short note we are interested only for multiple hypergeometric series of Appell type, precisely for Appell series F_3 , which is defined by (cf. [2, 3, 6])

(1.1)
$$F_3(a, a', b, b'; c; w, z) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(a)_m (a')_n (b)_m (b')_n}{(c)_{m+n}} \cdot \frac{w^m z^n}{m! n!}$$

for |w| < 1, |z| < 1, $c \neq 0, -1, -2, \dots$

As usual $(\lambda)_k$ is the well known Pochhammer symbol (or the shifted factorial or the raised factorial, since $(1)_n = n!$) defined by

$$(\lambda)_k = \frac{\Gamma(\lambda+k)}{\Gamma(\lambda)} = \lambda(\lambda+1)\cdots(\lambda+k-1).$$

A survey on multiple hypergeometric series of Appell type with a rich list of references has been recently published by Schlosser [10].

 $2010\ Mathematics\ Subject\ Classification.\ Primary\ 33C05;\ Secondary\ 33C65,\ 33C15, 33C60.$

Received February 14, 2019; accepted March 17, 2019

^{*}The first author was supported in part by the Serbian Academy of Sciences and Arts (No. Φ -96) and by the Serbian Ministry of Education, Science and Technological Development (No. #OI 174015).

The corresponding confluent functions or the Humbert functions [6, 7]

$$\Phi_2(a,b;c;w,z) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(a)_m(b)_n}{(c)_{m+n}} \cdot \frac{w^m z^n}{m! n!},$$
$$\Phi_3(b;c;w,z) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(b)_m}{(c)_{m+n}} \cdot \frac{w^m z^n}{m! n!},$$

and

$$\Xi_1(a, a', b; c; w, z) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(a)_m (a')_n (b)_m}{(c)_{m+n}} \cdot \frac{w^m z^n}{m! n!}, \quad |w| < 1,$$
$$\Xi_2(a, b; c; w, z) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(a)_m (b)_n}{(c)_{m+n}} \cdot \frac{w^m z^n}{m! n!}, \quad |w| < 1,$$

are connected with F_3 by the following confluence (limit) formulas:

$$\lim_{\varepsilon \to 0} F_3\left(a, a', \frac{b}{\varepsilon}, \frac{b'}{\varepsilon}; c; \varepsilon w, \varepsilon z\right) = \Phi_2(a, a'; c; bw, b'z),$$
$$\lim_{\varepsilon \to 0} F_3\left(a, \frac{a'}{\varepsilon}, \frac{b}{\varepsilon}, \frac{b'}{\varepsilon}; c; \varepsilon w, \varepsilon^2 z\right) = \Phi_3(a; c; bw, a'b'z),$$

and

$$\begin{split} &\lim_{\varepsilon \to 0} F_3\left(a, a', b, \frac{b'}{\varepsilon}; c; w, \varepsilon z\right) = \Xi_1(a, a'b; c; bw, b'z), \quad |w| < 1, \\ &\lim_{\varepsilon \to 0} F_3\left(a, \frac{a'}{\varepsilon}, b, \frac{b'}{\varepsilon}; c; w, \varepsilon^2 z\right) = \Xi_2(a, b; c; w, a'b'z) \quad |w| < 1. \end{split}$$

For some recent and interesting results on Appell series F_3 , including limit formulas, integral representations, differentiation formulas, etc. we refer a paper by Brychkov and Saad [5].

On the other hand, Bailey [4] established the following interesting and useful reduction formula for the Appell series F_3 viz,

$$(1.2) \quad F_{3}(a, b, 1-a, 1-b; c; x, -x) \\ = {}_{4}F_{3} \begin{bmatrix} \frac{1}{2}(a+b), 1-\frac{1}{2}(a+b), \frac{1}{2}(1+a-b), \frac{1}{2}(1-a+b) \\ \frac{1}{2}, \frac{1}{2}c, \frac{1}{2}c+\frac{1}{2} \end{cases} ; x^{2} \\ - \frac{(a-b)(a+b-1)x}{c} {}_{4}F_{3} \begin{bmatrix} \frac{1}{2}(a+b+1), \frac{1}{2}(3-a-b), 1+\frac{1}{2}(a-b), 1-\frac{1}{2}(a-b) \\ \frac{3}{2}, \frac{1}{2}c+\frac{1}{2}, \frac{1}{2}c+1 \end{cases} ; x^{2}$$

850

by employing the following sums from [4] viz,

$$\sum_{r=0}^{m} (-1)^r \binom{m}{r} (a)_r (1-a)_r (b)_{m-r} (1-b)_{m-r} = (-1)^m 2^{2m} \left(\frac{1}{2}a + \frac{1}{2}b - \frac{1}{2}m\right)_m \times \left(\frac{1}{2} - \frac{1}{2}a + \frac{1}{2}b - \frac{1}{2}m\right)_m$$

and

$$\sum_{r=0}^{2m} (-1)^r \binom{2m}{r} (a)_r (b)_r (a)_{2m-r} (b)_{2m-r} = 2^{2m} \left(\frac{1}{2}\right)_m (a)_m (b)_m (a+b+m)_m .$$

Here $_4F_3$ is the generalized hypergeometric function [9].

The aim of this short note is to derive Bailey's reduction formula (1.2) for the Appell series F_3 by another method. For this, we require the following results:

(1.3)
$$_{3}F_{2}\begin{pmatrix} A, B, C \\ E, F \end{pmatrix} = \frac{\pi 2^{1-2C} \Gamma(E) \Gamma(F)}{\Gamma(\frac{1}{2}A + \frac{1}{2}E) \Gamma(\frac{1}{2}A + \frac{1}{2}F) \Gamma(\frac{1}{2}B + \frac{1}{2}E) \Gamma(\frac{1}{2}B + \frac{1}{2}F)}$$

provided A + B = 1, E + F = 2C + 1 and $\operatorname{Re}(C) > 0$, and

(1.4)
$${}_{3}F_{2}\left(\begin{array}{c}A,B,E+n-1\\D,E\end{array};1\right) = \frac{\Gamma(D)\Gamma(D-A-B)}{\Gamma(D-A)\Gamma(D-B)}{}_{3}F_{2}\left(\begin{array}{c}A,B,1-n\\A+B-D+1,E\end{array};1\right)$$

for $n \ge 1$.

The result (1.3) is the well known Whipple's summation theorem [1, 3] and the result (1.4) is recorded in [1, p. 93, Eq. (2.4.12)].

2. Derivation of Bailey's Result (1.2)

In order to establish Bailey's result (1.2), we proceed as follows. Denoting the left hand side of (1.2) by S and using (1.1), we have

$$S = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(a)_m (b)_n (1-a)_m (1-b)_n (-1)^n x^{m+n}}{(c)_{m+n} m! n!}.$$

Now replacing m by m - n and using a known result recorded in Rainville [9, Lemma 10, p. 56]

$$\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} A(n,m) = \sum_{m=0}^{\infty} \sum_{n=0}^{m} A(n,m-n),$$

as well as the elementary identities

$$(a)_{m-n} = \frac{(-1)^n (a)_m}{(1-a-m)_n}, \quad (1-a)_{m-n} = \frac{(-1)^n (1-a)_m}{(a-m)_n}$$

and

$$(m-n)! = \frac{(-1)^n m!}{(-m)_n},$$

we obtain

$$S = \sum_{m=0}^{\infty} \frac{(a)_m (1-a)_m}{(c)_m} \frac{x^m}{m!} \sum_{n=0}^m \frac{(-m)_n (b)_n (1-b)_n}{(1-a-m)_n (a-n)_n n!},$$

i.e.,

$$S = \sum_{m=0}^{\infty} \frac{(a)_m (1-a)_m}{(c)_m} \frac{x^m}{m!} \, {}_3F_2 \left(\begin{array}{cc} -m, \ b, \ 1-b\\ 1-a-m, \ a-m \end{array}; 1 \right),$$

after summing up the inner sum.

At this step it is interesting to observe that in the ${}_{3}F_{2}$, we cannot apply the classical summation theorem due to Whipple (1.3), because here $m \in \mathbb{N}_{0}$. So, in order to evaluate ${}_{3}F_{2}$, we have to first make use of the transformation formula (1.4) by letting $A \to b$, $B \to 1-b$, $1-n \to -m$, $E \to a-m$ and $D \to 1+a+m$, we have

$$S = \sum_{m=0}^{\infty} \frac{(a)_m (1-a)_m}{(c)_m} \frac{x^m}{m!} \frac{\Gamma(1+a-b+m)\Gamma(a+b+m)}{\Gamma(1+a+m)\Gamma(a+m)} \times {}_3F_2 \left(\begin{array}{c} b, 1-b, a\\ 1+a+m, a-m \end{array}; 1 \right).$$

Now, the ${}_{3}F_{2}$ can be evaluated with the help of classical Whipple's summation theorem (1.3) and making use of Legendre's duplication formula for the gamma function (cf. [8, p. 110])

$$\Gamma(2z) = \frac{2^{2z-1}\Gamma(z)\Gamma(z+\frac{1}{2})}{\sqrt{\pi}}$$

for z = (a + b + m)/2 and z = (a - b + 1 + m)/2. After some algebra, we have

$$S = \sum_{m=0}^{\infty} \frac{(-1)^m 2^{2m}}{(c)_m} \cdot \frac{x^m}{m!} \cdot \frac{\Gamma(\frac{1}{2}(a+b+m))\Gamma(\frac{1}{2}(a-b+m+1))}{\Gamma(\frac{1}{2}(a+b-m))\Gamma(\frac{1}{2}(a-b-m+1))}.$$

Now, separating into even and odd powers of x and making use of the elementary identities viz,

$$(c)_{2m} = 2^{2m} \left(\frac{1}{2}c\right)_m \left(\frac{1}{2}c + \frac{1}{2}\right)_m,$$

852

$$\begin{split} (c)_{2m+1} &= 2^{2m} c \left(\frac{1}{2} c + \frac{1}{2}\right)_m \left(\frac{1}{2} c + 1\right)_m, \\ (2m)! &= 2^{2m} \left(\frac{1}{2}\right)_m m!, \\ (2m+1)! &= 2^{2m} \left(\frac{3}{2}\right)_m m!, \end{split}$$

as well as

$$\frac{\Gamma(z+m)}{\Gamma(z-m)} = (-1)^m (z)_m (1-z)_m, \quad \frac{\Gamma(z+m+1)}{\Gamma(z-m)} = (-1)^m (z+1)_m (1-z)_m,$$

we have

$$S = \sum_{m=0}^{\infty} \frac{\left(\frac{1}{2}(a+b)\right)_m \left(1 - \frac{1}{2}(a+b)\right)_m \left(\frac{1}{2}(1+a-b)\right)_m \left(\frac{1}{2}(1-a+b)\right)_m}{\left(\frac{1}{2}\right)_m \left(\frac{1}{2}c\right)_m \left(\frac{1}{2}c + \frac{1}{2}\right)_m} \cdot \frac{x^{2m}}{m!}$$
$$-Cx \sum_{m=0}^{\infty} \frac{\left(\frac{1}{2}(a+b+1)\right)_m \left(\frac{1}{2}(3-a-b)\right)_m \left(1 + \frac{1}{2}(a-b)\right)_m \left(1 - \frac{1}{2}(a-b)\right)_m}{\left(\frac{3}{2}\right)_m \left(\frac{1}{2}c + 1\right)_m \left(\frac{1}{2}c + \frac{1}{2}\right)_m} \cdot \frac{x^{2m}}{m!}$$

where the constant C is given by

$$C = \frac{(a-b)(a+b-1)}{c}.$$

Finally, summing up the series, we arrive at the right hand side of the desired result.

This completes the proof of (1.2).

$\mathbf{R} \, \mathbf{E} \, \mathbf{F} \, \mathbf{E} \, \mathbf{R} \, \mathbf{E} \, \mathbf{N} \, \mathbf{C} \, \mathbf{E} \, \mathbf{S}$

- G. E. ANDREWS, R. ASKEY, R. ROY: Special Functions. Cambridge University Press, Cambridge, 1999.
- P. APPELL: Sur les fonctiones hypérgeometrques de plusieurs variables. Mém. Sc. Math., Fasc. III, Gauthier-Villars, Paris, 1925.
- 3. W. N. BAILEY: *Generalized Hypergeometric Series*. Cambridge University Press, Cambridge, 1935.
- 4. W. N. BAILEY: On the sum of a terminating $_{3}F_{2}(1)$. Quart. J. Math. Oxford Ser. (2) 4 (1953), 237–240.
- YU. A. BRYCHKOV, N. SAAD: On some formulas for the Appell function F₃(a, a', b, b'; c; w, z). Integral Transf. Spec. Funct. 26 (11) (2015), 910–923.
- 6. A. ERDÉLYI, W. MAGNUS, F. OBERHETTINGER, F. G. TRICOMI: *Higher Transcendental Functions*, Vol. 1. McGraw-Hill, New York, 1953.

- 7. P. HUMBERT: Sur les fonctions hypercylindriques, Comptes Rendus de Sciences de l'Académie des Sciences (Paris), **171** (1920), 490–492.
- 8. G. V. MILOVANOVIĆ: Numerical Analysis and Approximation Theory Introduction to Numerical Processes and Solving Equations, Zavod za udzbenike, Beograd, 2014 (Serbian).
- 9. E. D. RAINVILLE: Special Functions. The Macmillan Company, New York, 1960.
- M. J. SCHLOSSER: Multiple hypergeometric series: Appell series and beyond. In: Computer Algebra in Quantum Field Theory (C. Schneider and J. Blümlein, eds.), pp. 305– 324, Texts & Monographs in Symbolic Computation, Springer-Verlag, Wien, 2013.

Gradimir V. Milovanović Serbian Academy of Sciences and Arts, 11000 Beograd, Serbia Faculty of Sciences and Mathematics, University of Niš 18000 Nis, Serbia gvm@mi.sanu.ac.rs

Arjun K. Rathie Department of Mathematics Vedant College of Engineering and Technolology (Rajasthan Technical University) Bundi, 323021, Rajasthan, India arjunkumarrathie@gmail.com